A
C SVC
Boo
A
C
SVBC A
teamTOPS teamTOPS




No > No >

1 > 1 = SVvC
2 > ? 2 SVC X

3 < 3 >

4 > 7 4 > SVC

5 < ? 5 >

6 > 6 SVC X

7 > i 7 > SvC

8 > 7 8 >

9 > 9 = SVvC
10 7 > 10 >

No =<

1 > Boo

2 Boo x

3 >

4 > Boo

5 >

6 Boo

7 > Boo

8 >

9 > Boo

10 >

No =< No =<

1 > teamTOPS 1 > teamTOPS

2 < SVBC A 2 >

3 =< teamTOPS 3 > teamTOPS

4 > SVBC A 4 =<

5 < SVBC A | teamTOPS 5 > teamTOPS
6 > teamTOPS 6 =< teamTOPS

7 > SVBC A 7 >

8 < SVBC A | teamTOPS 8 > teamTOPS
9 > 9 >

10 SVBC A > teamTOPS 10 =< teamTOPS




